
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

2nd Month, 2nd Week, 2nd Day Exercise 1.13 Q # (5 to 9)

 Answer the following questions:  
Q.1. If 2 men take 10 days to cut a tree, how many days will take 4 men to do

the same job?     (1x3=3)

 4  10  2 
Q.2. The cost of 16 quintals of bean is 40,400 rupees. How much will 4

quintals cost?     (1x3=3)



 4  40,400 

 16

Q.3. If 1 person takes 10 days to pick the apple from a garden, how many

days will take 5 people to pick the apples from a garden?      (1x4=4)

 5  10 
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